Suwrutnuwrinnid Gl
Qi uwnnp nvoptu’ Nuyl vwgwrinpyuu

«Orhytn QpnLwy» UML
Quithdw(
LwfulGwlw JtipphwlwG Yuwinwpiw
A Gnijph inbuwd (g'l‘j‘/“#ﬂ:n) (33 nnuw) (33 npud) dwdltnp
1 PGwlwnwG 1 hwtn 4000 12 000 oGl wzr”“é}:‘“”upu”hﬁ
UhGsl 250 p.u 5000 15 000
PGWYLh wnLh 251-500 p.u 8 000 22 000
1-2 wpuwwnwbpw)hG
2 (Upwnjwy odwiinwy 501-750 p.( 10 000 30 000 on
2hunLpjnLuutpp)
751-1000 p.4 13 000 37 000
1001p.d L wyb] | wuwylwlwqpuyhlG | wwjdwbwagpwjhG
0hGsL 2 000p.0 4 000 11 000 i}
3 3nnwiwu 1-2 wfuwwnwbpw)hb
2001 p.d L wybith 5 000 15 000 el
UhGsl 250 p.u 7 000 18 000
Swuwpwywywb L welinpw-
wpunwnpuywa b 251-500 p.u 13 000 37 000
qjnLnunlnbuwluwb 1-2 wuwwnwbpw)hG
4 wnwnwéphtin 501-750 p.u 19 000 56 000 on
(UGpwRyw| odwunwy 751-1
ShUnLpnLLUGND) 51-1000 p.u 25000 75 000
1001p.0 L wydb| | wwypiwlwqpwihl | wwjiwbwqpuwhl
5 Phqﬁht&t;iﬂjﬁr&ﬁwwjﬁ hwn wwjlwlwaqpwjhl | wwydwbwqpuwyha 3-5 Luzruu(])lﬂwﬁpwjhﬁ
6 LguiljwjwGGtp hun uljuwé 25000 uljuwé 35000 | 72 wzr””:)‘[‘JWGPWJh“
3tu-Gp, QEY-tip, wpluwhl 3-5 wpfuwwnwbpwyhb
7 U GGt L syl hwwn wwjlwlwagpwihl | wwjdwbwqpuwyha on
g | Udtnnnpuiluynpunughl hwtn 3000 7000 6-12 dwd
gwllywgwé vhong
2000 3 000
9 | Uwpp-uwppwynpnudttn, hun Iywhuwé Iywhuwé 1-2 wafuwinwlpwht
on
pwlwyhg/ pwlwyhg/
8 000 12 00¢ 1-2 wuwwnwbpw)hG
10 3nupwaqétip W wyu hwuwn [ yufujwé / Ywhujwé
on
pwlwyhg/ pwlwyhg/




